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Instruction :  Figures to the right indicate marks.
1.  (A) Discuss the structure of Indian Financial System.
OR
(1) Describe the functions of a Financial System.
(2) Explain the types of Financial Markets.
(B) Write the answer in short : (any four)

2. (A)

(B)
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State any two advantages of Financial System.

What is Formal Market ?

State any two characteristics of Financial System.

State any two characteristics of Informal Financial System.

What is Bank based Financial System ?

[Max. Marks : 70

14

State any two characteristics of market based financial system.

Discuss the instruments of Money Market.

)
2)

OR
Describe the functions of Money Market.

Explain the role of Reserve Bank of India.

Write the full name : (Any four)
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3. (A) Discuss the reforms of Capital Market.
OR
(1) Explain the Issue Mechanism.
(2) Describe the functions of Capital Market.

(B) Fill in the blanks : (any three)
(1) Establishment year of OTCEI —
2) is regulating on capital market.
(3) Prevailing trading and receipts settlement period is
%) — term securities are issued by Government.
(5) NSDLisa institution.

4.  (A) Discuss the organization of stock exchange.
OR
(1)  Describe the functions of secondary capital market.

(2) Explain the procedure of Listing.

(B) Make true pairs :

A B
(1) Establishment year of (@ 1992
Bombay Stock Exchange
(2) First time calculation of (b) 1927
sensex
(3) Starting of NSE (c) 1875
(d 1990
(e) 1986
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I. (A) (i) Discuss in brief profit maximization and wealth maximization objectives. of
Financial Management. 7
(ii)  Explain scope of Financial Management. 7

OR
(i)  Discuss stages of evolution of Financial Management.

(ii) Explain Liquidity v/s Profitability.

(B) Answer the following : 4
(i)  State three types of Financial Decisions.
(ii) Define Financial Management.
(iii) What is EPS ? How is it calculated ?

(iv) State role of financial manager.

2. (A) (i) Whatis Risk ? Explain methods of Risk Measurement. 7
(ii) Explain concepts of present value, future value and compound value. 7
OR

(1). Mr. X deposits T 10,000 annually in a bank for 5 year @ 7% p.a. what will
be the value of this annuity at the end of 5 years ? Show on time-line.

(ii) Explain various types of bonds.

(B) . Choose the correct option : 4
(i)  Zero coupon bonds carry
(a) No interest (b) No maturity value
(c) Both (a) and (b) (d) None of above

DE-126 9 P.T.O.



3. (A)
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(ii) Liquidity and risk have
(a) Direct relationship
(b) Inverse relationship

(c) No relationship

(iii) Compounding technique is
(a) Same as discounting technique.
(b) Slightly different from discounting technique.
(¢) Exactly opposite of discounting technique.
(d) None

(iv) The value stated on the face of the bond is termed as its

(a) Market value (b) Redemption value
(c) Parvalue (d) All of above
(i)  Explain in brief approaches of financing working capital requirement. 7
(ii) Discuss factors affecting working capital requirement. 7
OR
Using the information given below, calculate pay-back period, net present value
and profitability index. Also, comment on result. 14
Initial investment 380,000
Estimated life S years
Profit After Tax 3
End of 1* year 6,000
End of 2™ year 14,000
End of 3" year 24,000
End of 4" year 16,000
End of 5" year Nil

Depreciation has been calculated under straight line method. The cost of capital
20% p.a. and P.V. of ¥ 1 at 20% p.a. is given below :

Year 1 2 3 4 5

PV Factor | 0.83 | 0.69 | 0.58 | 0.48 | 0.40

10



(B) Choose the correct option :
(i)  Depreciation is included in costs in case of
(a) Pay-back period (b)  Accounting rate of return
(c) Net present value (d) None of above
(ii) Cash flows of two years in absolute terms are comparable.
(a) True (b) False
(iii) Net working capital is that part of firm’s current assets which is financed
from long-term funds.
(a) True (b) False
4.  (A) (i) Explain Net Income Approach. 7
(ii) From the following information, calculate weighted (average) overall cost
of capital using (a) Book value weights and (b) Market value weights. 7
Source Book Value Market Value
Equity share capital 345,000 % 90,000
Retained Earnings % 15,000 —
Preference Share Capital 310,000 310,000
Debentures 330,000 330,000
After tax cost of different sources of finance is as follows :
Equity share capital - 14%
Retained Earnings - 13%
Preference Share Capital — 10%
Debentures - 5%
OR
(i)  Discuss determinants of dividend policy.
(i)). The capital structure of A Ltd. consists of equity share capital of
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% 10,00,000 (shares of ¥ 100 each) and ¥ 10,00,000 of 10% debentures.
Sales increased by 20% from 1,00,000 units to 1,20,000 units. The selling
price is ¥ 10 per unit, variable cost is ¥ 6 per unit and fixed expenses
amount to ¥ 2,00,000. The income tax rate is 50%. Calculate :

(1) The percentage increase in EPS.

(2) The financial, operating and combined leverage at 1,00,000 units and
1,20,000 units.
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(B) Choose the correct option :

(i)  Itis risky to have both operating leverage and at a high level.
(a) Financial leverage (b) Combined leverage
(c) Both (a) and (b) (d) None of above

(ii) Trade credit is a source of
(a) Long-term finance
(b) Medium term finance

(¢)  Short-term finance

(iii) M.M. Approach assumes that markets are perfect.
(a) Money (b) Commodity
(c) Capital (d) None of above
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